SDA % — FEEHFERIL

SBERRT

C WENR#E — SDA

KV L1 9
KX KU EE EE
< EE r L @cD o0
s \
8| AL - ‘ L
nn nw ‘i”‘ 7
wlg—= HEES<]- o A%
I : /\/ -0.1
BF ‘G L1 L___EW"Q
AM | WF |G G| o~ EX
21 + 571
XC+ 178 4 SDA @12 ~ @16
7B + 78
TER
C WETREE — K| oD
[ [ (\ = 2,
=4‘
Z1+ 782 EX
I 1
#I@,./AM[ BE [BF|[cD|D | EE |EX[EW[G| KK [KU[KV[KX[L [Li|[MM] NI [NJ[WF[xC]2zi[zB
@12 | 16 |M16x1.5| 16 | 6 | 21| M5 |19 |12 |10/ M6x1.0 | 5 |24 |12 |2 |16| 6 | — | — | 22 | 75 | 51 |105
@16 | 16 |[M16x1.5| 16 | 6 | 21| M5 |19 |12 |10|M6x1.0 | 5 |24 |12 | 2 |16]| 6 | — | — | 22 | 82 | 58 [112
@20 | 20 |[M22x1.5| 18 | 8 |30 | PT1/8 | 27 | 16 |15 | M8x1.25 | 7 | 27 | 14 |12 | 22| 8 | 15 |28.5| 24 | 95 | 59 |125
@25 | 22 |M22x1.5| 20 | 8 |30 | PT1/8 | 27 | 16 |16 | M10x1.25 | 9 | 27 | 17 | 12| 22 | 10 | 15 |28.5| 28 |104| 64 |136
@32 | 23 |M27x2.0| 20 | 10 | 38 | PT 1/8 | 35 | 20 |16 | M10x1.25 | 10 | 35 | 17 |15 | 27 | 12 | 19 |36.5| 28 |115| 72 |150
@40 | 23 |M33x2.0| 20 | 10 | 45 | PT 1/8 | 42 | 20 |16 | M14x1.5 | 14 | 41 | 22 | 15| 27 | 16 |22.5|43.5| 28 |115| 72 |150
O WEHEEHE — SDAD
ul sl < E’—mﬂﬁ
L= I S
S| X
= Z1+ R
ZM + 7572 % 2
© TFEITIE
O T:ATRE — SDAL ML A+25mm
2-PT 1/8" MS B : 50mm
" {— o bt HE T Py
m m AT w W
s| < A —H ‘
S| X
S BF MB MA
AM | WF BG 1752 AN oMl
1
H + 782
77 + 1372 x2
FARE AN 'am| BE |BF|BG|_ " KK |MA|mB| M - Mt IymMS we 22 gy
wm| A | B A B A|B A B A | B
@20 | 45 | 70 | 20 | M22x1.5 | 18 | 25 | 78 |103|M8x1.25 | 22 | 8 | 24 | 43 | 68 | 8 | 33 | 58 | 24 | 181 | 206 | 107
@25 | 46 | 71 | 22 | M22x1.5 | 20 | 25 | 79 | 104 |M10x1.25| 22 | 8 | 24 | 45 | 70 | 10 | 35 | 60 | 28 | 193 | 218 | 120
@32 | 46 | 71 | 23 | M27x2.0 | 20 | 25 | 79 | 104 |M10x1.25| 27 | 10 | 29 | 47 | 72 | 12 | 35 | 60 | 28 | 202 | 227 | 128
@40 | 50 | 75 | 23 | M33x2.0 | 20 | 25 | 83 | 108|M14x1.5 | 32 | 10 | 35 | 47 | 72 | 16 | 35 | 60 | 28 | 206 | 231 | 128




JDAD % — 4 H K ( TiH1TF8 25mm fE)
SVEER R

CHTFERRT

T |z
- T |m @
®

———\
/
<5 w o
gl > Tl /f\ {
Q| T T
A\
K2 / \
I ¥
W
235 M
©C JDAD @20 ~ @100
A+ (1772) x2 N3
D B1 c+ 172 G+ 1712 N2
S R F | G
Tt 2-0 N1 N1
K1 fm | ||
LG

3
Y
X)
T1
S
0
0.
oL
’ (%)% ‘
o
ONs

P2 P2
P1 ! ! P1
| M

N ERBUEITAR 30 ({TARA P 25mm ) o

5T ek HEm MiEA Bi1 | B2 | D E F |G | H Hi K1 K2 L | M| N1 | N2| N3 |Ns
(mm) A (o3 A (o]
20 26.5|19.5|36.5 (295 | 55 [ 195 | — 18 | 4 | 1.5|13| 14| M4x0.7Px10 | M6x1P 13| 3 | 75 | 31 [ 385 16
25 291|212 391|312 | 6 22 | — |201|41|19]|15| 16| M5x0.8Px12 % |M8x1.25P |17 | 3 | 8 | 33 | 42 | 20
32 343 | 24 | 443 | 34 7 24 | 50 |20.7|3.7|33|16| 17 |M6x1Px14 SE | M10x1.25P |22 | 3 | 9 | 33 |435] 25
40 36.8 | 26.5 | 46.8 | 365 | 7 34 | 58 |30.7 3.7 332527 |M8x1.25Px14 | M14x1.5P |28 | 3 | 10 | 35 | 49 | 32
50 415|286 | 515|386 | 9 36 | 71 | 321 (5139|2527 |M10x1.5Px15 % |M18x1.5P |38 | 3 |[10.85 37 | 56 | 36
63 44.9 | 325 | 54.9 | 425 | 85 | 355 |84.5 | 31.6 | 4.6 | 3.9 |25 | 27 | M10x1.5Px15 % |M18x1.5P |40 | 3 | 11 | 37 | 56 | 36
80 57 | 413 | 67 |51.3|10.7 |43.7| 104 |38.7 |57 | 5 |30 | 33| M14x1.5Px20 ;% |M22x1.5P |45 | 4 | 13 | 37 | 585 | 44
100 57 | 453 | 67 | 553 | 87 |41.7 | 124 |38.7 |57 | 3 |30 |33|M16x2.0Px20 F|M22x1.5P |45 | 4 | 15 | 37 | 585 | 44

.o

TR sk o Pa (EIZEFL) P1 P2 R S T1 Vv w X Y
(mm)
20 M5X0.8 | iBFL @4.3, IHF M5 x 0.8P x 6 3F ; 17l @7 x 5 3% ; (MiB) 11 5 - 34 24 8 6 - -
25 M5X0.8 | i@FL D5.1 , I M6 x 1P x 8 i ; 17l @8 x 6 F ; (&) 14 6 - 40 28 10 8 - -
32 PT 1/8 SBFL 5.1, I M6 x 1P x 8 7% ; #1FL T8 x 6 & ; (Mi&) 14 6 6 44 34 12 10 15 13.6
40 PT 1/8 |i@FL ©6.8, I M8 x 1.25P x 10 3% ; X%l @10 x 8 3 ; (MiB) 18 8 6 52 40 16 14 15 | 13.6
50 PT 1/4 |iBFL 96.8, INF M8 x 1.25P x 10 3% ; 17l D11 x 8.5 3% ; (M:2) 185 | 85 9 62 48 20 17 | 216 | 19
63 PT 1/4 |i@FL @6.8, I M8 x 1.25P x 10 3% ; =¥l D11 x 8.5 3F ; (WiB) 185 | 85 | 9.5 75 60 20 17 | 235 | 20.5
80 PT 3/8 |i#fl 9104, M M12x 1.75P x 12 3% ; 17 @14 x 10.5 % ; (Mi&) | 22.5 | 105 | 10 94 74 25 22 | 276 | 25
100 PT 3/8 |i@¥L 9125, WH M14 x 2P x 15 3% ; #£FL D18.5 x 13 iF ; (M8) 28 13 10 114 90 25 22 | 276 | 25




JDAD £%— ;42K ( TiH1T82 40mm fEL)
SVEER R

CHTFERRT

T |T
-n T |m |
(0]

——\
,
oS w -
‘3 2 f P% (\ :\\
o/ |
W ———\
mE | M
©C JDAD @20 ~ @100
A+ (1718) x 2 Ns
D B1 C+17#8 G+ 1172 N2
s R Fl,l 6
T 2-0 [N N |
e
2 (LG
/ _ —
1@ g o -
ng - —
S 2 -
4-P4
M
¥ 5T AZHEEESTRZ 1 50~ 75~ 100 ( {TREAIFAEE 40mm ) o
0y X {l
TR sk A@ﬁgi Tmac Bi | B2 | D E F |G |H |H1 K1 K2 L|{M/| N1|N2|N3|Ns
(mm)
20 26.5|19.5|365|295| 55 |195| — | 18 | 4 |15 |13 |14 | M4x0.7Px10 E |M6x1P 13| 3 | 75 | 56 | 63.5| 16
25 291|212 |39.1|312| 6 22 | — |201|41|1.9|15|16|M5x0.8Px12 F|M8x1.25P | 17 | 3 8 | 58 | 67 | 20
32 343 | 24 | 443 | 34 7 24 | 50 |20.7|3.7|33|16|17 | M6x1Px14 PE IM10x1.25P | 22 | 3 9 | 58 | 685 25
40 36.8 | 26.5 | 46.8 | 365 | 7 34 | 58 |30.7|3.7[3.3|25|27|M8x1.25Px14 £ |M14x1.5P |28 | 3 | 10 | 60 | 74 | 32
50 415|286 | 515|386 | 9 36 | 71 | 32151 (3.9 |25]|27 | M10x1.5Px15 ;% |M18x1.5P | 38 | 3 [10.85 62 | 81 | 36
63 44.9 | 325 | 54.9 | 425 | 85 | 355 |84.5|31.6 | 4.6 |3.9 |25 |27 | M10x1.5Px15 % |M18x1.5P |40 | 3 | 11 | 62 | 81 | 36
80 57 | 413 | 67 |51.3|10.7 |43.7| 104 | 38.7 |57 | 5 |30 |33 |M14x1.5Px20 % |M22x1.5P | 45| 4 | 13 | 62 |83.5| 44
100 57 | 453 | 67 | 553 | 87 |41.7 | 124 | 38.7 |57 | 3 |30 |33 | M16x2.0Px20 % |M22x1.5P | 45| 4 | 15 | 62 |83.5| 44
.o
T st o Pa (ElZEFL) P1 P2 R S T1 Vv w X Y
(mm)
20 M5X0.8P| i@7 @4.3 , L M5 x 0.8P x 6 3F ; 117l O7 x 5 3% ; (&) 11 5 — 34 24 8 6 - -
25 M5X0.8P| i@FL 5.1, FF M6 x 1P x 8 i ; 117l D8 x 6 & ; (Mi&) 14 6 - 40 28 10 8 - -
32 PT 1/8 B 951, WF M6 x 1P x 8 iF ; #1 7l D8 x 6 iF ; (M) 14 6 6 44 34 12 10 15 13.6
40 PT 1/8 | i@¥lL 96.8, F M8 x 1.25P x 10 3% ; 1X#L D10 x 8 3F ; (M) 18 8 6 52 40 16 14 15 | 13.6
50 PT 1/4 |3BFlL D6.8, INFF M8 x 1.25P x 10 3% ; 1FL D11 x 8.5 F ; (M) 185 | 85 9 62 48 20 17 | 216 | 19
63 PT 1/4 | i@FlL 96.8, I M8 x 1.25P x 10 3F ; 1£FL D11 x 8.5 3F ; (M:8) 185 | 85 | 9.5 75 60 20 17 | 235 | 20.5
80 PT3/8 | @7 @104, HF M12x 1.75P x 12 3% ; #£7L P14 x 10.5 3% ; (Wi&) | 22.5 | 105 | 10 94 74 25 22 | 276 | 25
100 PT 3/8 | @7l D12.5, WA M14 x 2P x 15 3% ; 157l D18.5 x 13 iF ; (M:8) 28 13 10 114 90 25 22 | 276 | 25




DN &% R REL ( WEZBER )
SMEREIR;R~F-DND > DNL > FA° FB &%l

© WiHE - [DND]

Z1+ 17718

ZM+ (2 x17%2)

AM

ZX+ (2 x17%2)

© WEHTIEAITIEE! -[DNL] A : 25mm

B : 50mm

H+{T#2

AM WF
7z+ (2 x1712)

ST SR | Am A AN 5 BF | G T g MA — ML = A s 5 WF — Zz 5z ™| X
@32 22 |47 | 72 [ 16| 26 | 73 | 98 | 22 | 47 | 72 | 35 | 60 | 26 | 215 | 240 | 94 | 146 | 190
240 24 | 48 | 73 [ 20 | 30 | 78 [ 103 | 27 | 47 | 72 [ 37 | 62 | 30 | 237 | 262 | 105 | 165 | 213
@50 32 | 52 | 77 | 25 | 30 | 89 | 114 | 36 | 53 | 78 | 38 | 63 | 37 | 264 | 289 | 106 | 180 | 244
263 32 |52 | 77| 25| 32 | 89 | 114 | 36 | 53 | 78 | 38 | 63 | 37 | 279 | 304 | 121 | 195 | 259
@80 40 | 58 | 83 | 32 | 38 | 104|129 | 46 | 60 | 85 | 40 | 65 | 46 | 318 | 343 | 128 | 220 | 300
3100 40 | 58 | 83 | 35 | 40 | 104 | 129 | 46 | 60 | 85 | 40 | 65 | 51 | 333 | 358 | 138 | 240 | 320
@125 54 | 75 | 100 | 40 |452 | 135 | 160 | 56 | 70 | 95 | 50 | 75 | 60 | 409 | 434 | 160 | 280 | 388
2160 72 | 80 | 105 | 55 | 50 | 160 | 185 | 60 | 75 | 100 | 55 | 80 | 80 | 492 | 517 | 180 | 340 | 484
@200 72 | 80 | 105 ] 65 | 50 | 170 | 195 | 60 | 75 | 100 | 55 | 80 | 95 | 517 | 542 | 180 | 370 | 514

C EFHANEEE - B E e 5

EimETE
ﬂéﬂ%ﬁ E |FB|MF| R | TF |UF | W | ZF
poFE ® FAZ OFBH @32 |79 7 |10 |64 |32 50 | 16 [130
@40 |90 | 9 |10 |72 |36 |55 | 20 145
o = = @50 (110 9 |12 | 90 | 45 | 65 | 25 155
PN @63 |120| 9 |12 [100| 50 | 75 | 25 |170
"“‘ w *@@Z— ****** * 1 @80 |153| 12 | 16 | 126 | 63 | 95 | 30 | 190
% i ? N i @100 (178 | 14 | 16 [150 | 75 | 115 | 35 |205
F w| | MEL* @125 [210| 16 | 20 [ 180 | 90 | 140 | 40 |240
UF ZF+ 712 @160 280 | 18 | 20 (230 | 115180 | 60 |280
@200 320 22 | 25 270|135 220 | 70 |300




